Taylor Series Matching — Solutions

: A R
A,6,j —;)—'—1+x+5+§+—+
B.7.¢ o2 _ 2" 422 8z  16a*
— n! 2 3! 4!
e o ( 1)711.271_ 4 .’13'6 1.8
o o0 (_1)nx2n+1_ O D R
D,10,d smx—zom_ —54_5 F+§_...
B - (—1)"m2"7 22zt 2% 28
Cosx_nzzo 2o 2w e e
. > (_1)n$2n+1 .273 1'5 x? 1.9
F.9 = = S s
ek LeosE ; (2n)! PRI TR
1 (o]
G,2,h - ;x =14+ +23 2" 4.
1 o0
H,3,m 1+x:nzzo(—1)”x":1—x+x2 z® + 2t
1 N n n
n=0
i L = L :in:v =142z + 32% + 4% + 52t +
S dr \1—=z )
[e.e]
(_1)n+1xn 172 IS ZL’4 1’5
L,8 b In (1 = N T T
(1+2) ; n ST IR
x 0 (_1)nx2n+1 $3 1.5 IIZ'7 1.9
M]_ pu— t pu— —_—m —_— — —_—— — —_— — e e .
, L, g ; 1+t2 arctanx nZ:O 2’[’L+1 3+5 7+9



